Math 3210

Tutorial 3
Example 0: Review from last tutorial
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If a set of points gives the same solution to a linear problem, then any convex

combination of the points give the same solution.
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Some big picture:
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Example 2: Prove that if P’ is not an extreme point on §’, then P is not an extreme
pomt onS.
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Different from:

Basic LLP problem
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All a,x,b assume to be real

Canonical From
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Note that if all the Bs are non negative, then it is called a Feasible Canonical from.
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Example 3: Dealing with free variables:
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Example 4: Making right hand side positive
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Example 5: Changing constrain:
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A simple review on basic solution and its usage:
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Example 6: How to speed up computation
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